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a)10x10 = b)12x10 = 911 x10
d) 8x10 e 2x10= f) 5x10
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A car seats 5 passengers.

How many cars would you need to
take 25 people to the shops?
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There are 12 sausages in one packet.

How many sausages are in two packets?
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‘What is needed in the sentence below?

the boys raced to the park.

Tick one.

o capital letter

@ question mark

an apostrophe

The sentences below have their punctuation marks covered.
Which sentence is o question?

Tick one.

Thave finished my puzzle

Find me @ new puzzle

Where is my puzzle

What o trcky puzzle this is

‘Which sentence is punctuated correctly?

Tick one.

There are some foxes living in the woods

there are some foxes living in the woods

There are some foxes living in the woods.

there are some foxes living i the woods.
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Fill in the correct product.

a) 6x2= by 1x2=  9x2-=
d)10x2 = e 8x2= ) 2x2=
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a) 7x5= b) 5x5= o 9x5=
d) 4x5= e)12x5= H10x5 =
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Chris spends 70p on 10 party bags.

How much does each bag cost?




